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I; (a) What is me: - :
meant by Cost Ac;t;mlmg ? Discuss the objectives of Cost Accountings. 7

Define different methods of costine isc

(b)  Write Shnrii notes on fnlInu.fr‘i::;:::‘gﬂl:fu{;Mlm e !
(1) Marginal costing
(2) Elements of costs
(3) C_nst center
(4)  Fixed expense and variable expense

(¢)  Give the proper cost unit of the following industries
(1) Railway | :
(2) Chemical

(3) Paper mill
(4) Brick manufacturing
(5) Hotel
(6) Textile
onomic order quantity

rmmation ecaleulate (1) Ec
level (3) Average level

Z. (A) From the following info
(2) Ordering level (3) Minimum level (4) Maximum
(6) Danger level 7
(1) Bimonthly consumption 7500 units
(2) Cost per unit < 100
(3) Cost of placing an order % 500
(4) Storage carrying charges 25%
(5) Maximum time to get materials 45 days
(6) Average time to get materials 35 days
(7) Maximum time for immediate purchase 5 days |
(8) Maximum dai lypons;umption 120 units
(9)  Minumum daily consumption 80 units
OR
Ajit Ltd. had a stock of 15,000 kgs at T 2 per kg in the beginning of September,
2017. Other pur:chases made during the month were as under : -
*sScptember 6 4.500 kgs at T 2.50 per kg
September 12 5,500 kgs at % 3.00 per kg
September 19 12000 kgs at T 3.50 per kg
[ssues for production WerTe as under :
September 14 25,333 1;55 ‘
- gS |d be the value of closing stq.

September 26
If tl;le issues are priced on [ [FO Method what wou

at the end of month ? '
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Explain the difference be -
tween FIFO Me :
(C) From the ﬁl”thillg inf O Method and LIFO Method

, ormation find vty . . 3
?p“'f'"lg Stock X 2[; {l’:l;{: malenal turnover rate
Closing Stock ? g 4.000
Purchase of materialg :

‘ ¥ 3,95,000
Generally stock are valued at cost price plus 20%.
OR

Explain Weighted Average Method,

3. (A) On 3¢ March, 2017 lollowing information was obtained from the books of a
company. From this information find out the amount of net wages payable in cash
and also find out the cost of monthly wages. Y
(1) Basic Pay < 1,00,000
(2) Dearness allowance 50% of basic pay
(j) Nightshifl allowance T 12,000
‘(5; l?vur_l ime allowance 4 20:000
(6} 1r¢w!dum_ fund deposited for the period T 16,000
> | contribution for the period 4 ]0'0(}0
. (7) CCovery tri':-:lui'l'quurlurﬂ ' 3 12'{}00
(8)  Recovery towards Supply for provisions T 10,000
(9) _ Exmpsus on amenities to cmployees T 6000
Provident fund is paid in equal share b “

1 - i : y the employer and the _
contribution to ESI is in proportion of 3:2 by the Jmp ¢ employees. The

) loyer and the employees
respectively,

OR

Following particulars has been obtained of Mareh-2017 from the labour department

of Riddhi Manufacturing Company, Find out the labour tumover rate and the
equivalent turnover rate according

to'Separation method and Replacement method.
Workers as on 1-3-2017

6360
Workers as on 31-322017 5640
During the month of March; 2017
No. of workers discharged 9200
No. of workers rétired 1140
No. of workers resigned 560,

No. of workers newly appointed 1000

(of which 40% workers were taken under expansion plan)
(B) Write short notes on (any two)

4
(a) Time wage system
(b) Piece wage system
(c) Halsey premium p}an
Rowan préemium plan _ | |
(C) E{J )workman tgkcs 9 hours to complete the job on daily wages and 8 hours on a

‘ ' ' hour. Calculate the wages
*heme of payment by results. His day rate is T 25 per
;;yable to f:forker on (1) Time basis and (2) Piece basis. 3

OR S
A workman allowed 72 hours to complete a job on daily time wages and he
complete the job in actual 48 hours. His time wages 1s < 15 per hour. Calculate

the wages payable to worker on (1) Halsey Premium Plan and (2) Rowan
Premium plan.
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ther
depertmients D 5 E f}r Eet(l‘l::elpmductmn departmen A
auls of the ©Xpenses durip Ma o C and o service

Indirect wagpges X 0l T '
Insurance 7,800
Canteen €Xpenses 19,800
Lighting 36,000
Rent and raes 2,000
C‘untributinn to ES| 30,000

Depreciation 3900

Power | 22000
Factory Manager’s salary 1 f};ggg

Other Informatiop -

Particulars

Lighting Points

Direct Wages (3) -

Cost of Machine (%)

Horse power of machine

ISpace occupied (sq. feet) |

roportion of time devoted

following proportion:

Particulars | A
Department D [20%

Department E [30% |40% [30% ]| =

Prepare (1) Distribution. of overheads to various departments and (2) Distribution of
expenses of service départment to production departments.

OR
Production is earried out by four identical machines in a facto
of the factory are as under :

ry. The annual expenses

(1) Rentand rates - yearly N
(2) ‘Annual consumption of power at the rate of 10 paisa per unit
(3) Repairs and maintenance of machines - annual
4) - Lighting for the factory - yearly |
ES; Sa’f:ry of two workers looking after the machines - monthly per worker
(6) Supervisor’s salary - monthly
(7) Sundry materials - yearly

lati ine - monthly e
8) Depreciation of each machine - mont | | }
EQ; Hife purchase instalment of machines - yearly (including Interest X 3000) '}

(10) Consumption of power is 10 units per hour for ?acILmacr;::.
. From the above information calculate the machine hour rate.

7
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In the followi :
Ng sub-questions more than Wer is o s
: ﬂnﬂ I 3 L
answer is correct. § answer 1s given, of which only one

elect the correct ans ' Inati ing
\n};yf, iy sevess Wer supported by necessary explanation/working
( Which ope of the following is a ‘Product Cost’ 9

N Indirect Materials (b)  Administrative Staff Salary
(c) Salesman’s Commission (d) Interest on Bank Loan

) . —— g
(2)  Telephone bill is included in Which of the following expenses ?

(@)  Fixed €Xpenses (b)  Semi-variable expenses

(¢)  Variable expenscs €@~ Nonc of the above

| 3) Following information Is carried out from the record of a company. Opening
—F  Stock? 20,000, Purchases # 65,000, Closing Stock ¥ 10,000.
Calculate stock turnover rate.

(@) 1 time (b) 3 times

eﬁi (€) 5 times J,d’f 3.5 times

Most profitable quantity of purchase is called -

(a)  Maximum quantity (6) Minimum quantity
(€)  Average quantity

(5), 1 : (#) Economic ordering quantity
\_/ - Wh“'h.mﬂth“d stock is valued at a pricé which is almost nearer to current
market price 9

(a)  Fixed price method i? Weighted average method
(¢) LIFO )  FIFO

(6)' Wages for actual time taken + 509% x (Wages of time saved). Out of the fol
in which system the amount of wages iscalculated ?

14

lowing,

(@) Taylor's plan AB)  Rowan Plan
(c) Halsey plan * (d) Piece rate system
(7¥" Which wage system¢is proper where speed of the work depends on machine not

on man ? , -

(@ Piece wage system (b)  Time wage system

(¢) Co-partnership (d) Halsey wage system |

\/.{) If a machine, costs ¥ 84,000, its scrap value is Z 12.000 and its useful life is 6

years then what will be the depreciation ?

). ¥ 12,000 (b) T 14,000

(c) '%.16,000 (@ 10,000

) * If prime cost is T 25,000 and factory overheads are ¥ 5,000 then what will' be
[ ?Q percentage of factﬁry overheads on prime costs.?

@ 20% (b) 25%

(c) 15% Jd) 30%' | |
‘9/) The canteen expense incurred by a factory is apportioned in the ratio of-
| (a) Direct wages
(b) The number of employees in-each department
(c) Equally
(d) None of the above
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